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(D) I was doubtful whether Mahesh was smart or not.
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I clipped my hair.
(A)Icut my hair. (B) ILclipp : y :
(D) I had a nice hair cut.
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Give the nearest meaning of word : ‘Phantom .

—_— cal (D) tangible
(A) existent (B)imaginary (C) corpor
(91)  Give the verb form of ‘little’. e (D) bilittle
(A)alittle B)unlittle (©belitt
92)  Change the voice : “What caused COVID-19 7"
< ange e voIes e B) What was caused by COVID-19?
(A) What was COVID-19 caused by ? (B)
) By what COVID-19 was caused ?
(C) By what is COVID-19 caused ? (D) By
. ine of the underlined word : «
(93)  Select the word or phrase which is closest to the opposite in meaning o Rahy]
will never accept your request.” )
(A) tumover (B) tum down (C) turn up (D) reject
(94)  Add asuitable question tag : Radha, one of my neighbours slipped offa stair cas'e. """"""" ?
(A) did she (B) does she (C) doesn’t she (D) didn’t she
(95)  Fillinthe blanks with appropriate set of prepositions : Nidhi travelled ......ccoeeevn. hermotherall......... .
the world when she was 17 years old.
(A) by, above (B) for, around (C) with, around (D) with, over
(96) Turn this sentence into English : “s% 48§ A il Asell QAL A el eell.”
(A)I could still saw her standing there alone. (B) I could still see her stood there alone.
(C)Icould still see her standing there alone. (D) I cansstill see her standing there alone.
(97)  Fill in the blanks with the appropriate word / words : Rohan and Nayan have been on vacation
..................... May 2023. They ..................... to Manali for a week.
(A) for, had gone (B) since, had gone (C) for,have gone (D) since, have gone
(98) Mantra got the first prize last week. Find out the correct option to get the underlined answer.
(A) Which prize did Mantra get last week ?
(B) When did Mantra get the first prize ?
(C) Which prize Mantra got last week ?
(D) Where did Mantra get the first prize ?
(99) Ravi........ in this company for five years. Find out correct form of verb from the options:
(A) works (B) is working
(C) has been working (D) have worked
(100) Find out the correct spelling from the options.
A)S
(A) Spactacular (B) Spectacular
C ta
(C) Spactaculor (D) Specteculor
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(C) Best Input Output systen
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(A)SE= = (B)z=w== =
(C) Fzzmmm = (D)T=HETE =5
134) Impress & w1 =3 5 (Defauh) =z TrzmA B Tz e 1 27
(A)1 5= (B) 1 51 (€)1 753 (D) 10 55>
"55) i 5 st o e mm;-gmwmw'm%z
(A)7 (LAN) (B) 33 (WAN)
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(136) ﬁmﬁﬁ%ﬁ—ém%m}awmﬁwﬁﬂ’“"m%mémm T

2 :
:z\) BRI - 319 HHH (1) ISDN =TTt = T
R —— (D) AEAE FHF
(137) Yearh meivt 21 3ivg 0 & Ve 3 fofe, 20 ST & 7 Dy
(A)Eam (B) IP ©H (C) TR ;
; g2
(138) R Seards 3 it gorerifres A @ fordt TR - me
(A) S (B) 3-3=1 (C) TSt D) &
(139) 75 e ) qem ¢ T R 0 31 B ) chr-Q 7 & TE S 2
(A)Enciphering (B) Encryption
(C) Deciphering (D) Decryption
(140) WIwaR ¥ “RT AYaTeN U6 fen ) JHam FReare Toetet Sure S R T ¥ vewm s
(A) BT (Attac) (B) a1sW (Virus)
(C) A7 (Vnlnerabilities) (D) ¥ (Kaison)
(141) TRt sft HTML wor@ ) e title Tem a2
(A)TH (B)Q (C) T (D) =R
(142) HTML Ui & W e et a1 3g £ 3 O v soam 2 S 2
(A) T (B) ot (<reqor)
(C) feoquit (D) oA
(143) Wﬁﬁéwﬁﬁmﬁﬁaﬁa—ﬁmw(hexadecimal)%qaﬁwfqrw%?
(A) FF0000 (B) 00FF00
(C) 0000FF (D) FFOOFF
(144) HTML ¥ ¥ % gwiee vt fe iy * T S9-3 whi= I SEIHT BT S 2
(A) <LN> (B)<LI> (C) <HN> (D) <HR>
(145) HTML ¥ ‘&’ fag % fou si9- wisfs v 1 TG B R 2
(A)lt (B) gt (C) amp (D) erg
(146) F7=1 5 9 2w 1 o Wikt s & 2
(A)Img (B) MP3 (C) Move (D) PNG
(147) HTML % <LO> B -9 =R fife a2
(C) eronfen (D) W T
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(159)

e fer=el a0 6 v 3 fersuford w6 3 fer, o wadmmen & o @ 2

(A) Framesct (B) Elements

(C) Layouts (D) Design

et 3 Ot F ved B A O ¥ A qa- st q@me FOET S8 FA-1 g TR
€2

(A) RIes (B) wiffer

(C) P (D)2

ol H QS g8 ahviie o e e H W e A § 2

(A) .ods (B).odd (C) xls (D) .obj
Yt A Ty TR % o -3 fag o 3gdm e € ?

(A # B)@ ©)$ (D)%
feroom ST 3 T et & PIA-T e Y’ 1 ST el @ 2

(A) F1 (B) F2 (C) F4 (D)F7

Fedl H I o ey (@E)ﬁ?ﬁﬂﬁ%ﬁmﬁﬂﬁﬁzﬁ?—ﬁm(command)?ﬂ'ﬂﬁmﬁm

¥

(A) Edit = Data (B) Data — Validity

(C) Format — Data (D) View —> Data

=1 3 A e @1 e fade A @, I e |

(A) GEOMEAN () (B) MEDIAN ()

(C) MODE () (D) ABS ()

Seeeft 3 B § § F-w fadg el o e orem W @ sifafter R T A g R ?
(A)LEFT () (B) RIGHT ()

(C) SUBSTR () (D) TRIM ()

et 3 = LEN (“HELLO™) fera @ #i-a1 St fireran @ 2

(A)2 (B)3 ©4 (D)5

et 3 Fadr 7 ywend Frt # D - foed 3w A ¥ 2

(A) “=" a8 (B) &R (301) (C) §&m (D) A

iy o Q F-w fag et = aferen fada e € 2

(A) OR (B) AND (C)NOT (D) PROPER
et § gahie ¥ UE (FR3) <rgd ¥ e FA-Q A7 Fored o1 ST AR 2

(A) Edit = chart (B) View —> chart

(C) Insert > chart (D) Import = chart
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(160) el 7 AT (umR) 1 wirgA & e 1

B) eEYfc®
(A) vfazafes :D; s
(C) ZrEnferd . AR
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Y 3 FrEaE v o fra g o STanT 2 €
ne (A):ﬁ:mm (B) Forebror (F340)
(C)gd (D) AR - FGY
(162) 71 1 A F- Tl Toe TaE T 2 2 \
(A) T2 31 (B) wire
(C) remmftem (D) Foft
(163) ¥t a1 3 generi % o 1 Foer forsm & ATz wehel € 2
(A)TH (B)E\T

(164) =1 5 3 Fm- faum @t o 3 =1 (Variable) 3 = e § wdt 76 § 2
(A) T 1 9 Fra & =W S| 2 91 |
(B) =et < 9 ¥ Ao, 3l Td SFeTEhR o SUANT & Wl & |
(C) = % 1 3 Y21 e YeleR I SFeTehr 2 TH 1 a3 |

(D) =& % T H9-Af g T 5 |
(165) 1215 3 BF-w & w1 =01 mfvrfes whr S 2
A< B)<=
(©) % (D)>
(166) T & 4 - =t st =1 <o wpore i & 2
(A)<> B)&&
©1l D!
(167) = wﬁ%hmﬁwﬁ%@#—%%m%%w%?
(A) enum (B) def
(C) typedef (D) pointer
(168) 194 4 F-w fadg @t T & T g N e g TR T 3 1 ferd g 3 )
(A) gets() (B) getc()
(C) getch() (D) getchar()
(169) =1 8 J FF-w1 falm & o 1 avicryeeni Ieeqe fadg 1 & 2
(A) printf() (B) scanf{)
(C) putchar() (D) puts()
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(170) 1 S A A 0 S8k 251 g5y g e iy e o fegin 7
#include <stdio.h>
int main()
intx=3;
switch (x)
s

case 1 : printf (“A”); break;
case | : printf (“B”); break;
case 1 - printf (“C”); break;
case 1 : printf (“D”); break:

]

s
return 0;
J
(A (B)B
(CHE (D)D
(171) FEAI - figg gt
(A)do.while (B) while
(C) for (D) switch...case
(172) Eﬂfar@ﬁ a4 4 3 FA-31 o o9 5 o 512 =1 saee = 5 T FEE E o
)
[ -
(A) break (B) continue
(C) goto (D) switch
(173) TF=feraa S 919 5 SEE-E 2 =9 94o0E =41 f9emm 7
#include <stdio.h>
it main()
‘
1
inta=3, b=10;
do
{
a=a+l;
}while (2<=b):
printf{%d . a);
}
(A)10 (B)9
(C)11 (D)15
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o L
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print el ed Qe d 1 o0
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A 1L23
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() panty)
(C)cos()
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(A)int
({©)vod
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(B) pow()

(D) squt()

R W return type Wy N g yam e
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(180) & v H Fr=ifera @um 2} anweran) i are no2 119 % 1@l (Variable) @1 1sra #r fierd 2
flinclude <stdio.h>
intmain()

{

intnol=4, no2;
no2=sqr(nol);,
print{(*'no2=%", no2);

return 0;

)

int sqr(intn)

{

rcturn(n * n);
)
(2 (B) 4
©3 (D) 16
(181) w-faem w5fd % ¥g = gof = wvaren fasey g |
(A) T T e 3 e Sreaifed o |
(B) GeHS T <l ST = fRmra a9 % forg |
(C) Forerenl =n1 Fearefes & 72T <he 3 fere Freenfea 7 e |
(D) 313 A fasrooneTar feramiich < smeafasiar @ faea e |

(182) w1 ¢ fereror st ¥ wefae 7 @ A faeheq g |

(A) TR 2T (B) W-wfrg

(C) arfes () | e (D) =g S
(183) Feforeer g & faerah @ ICT ~efEm $H-H € ?

(A) GeT 7 9T 3R Froriae @R S

(B) QfiFa TEHEdeH Td Tednial

(C) el F A e T I T S ST € 2

(D) Iugdaa ast

(184) ﬁ\maaﬁﬂwm#ﬁﬁmﬁmﬁq-“f%?
(A) Wrarge |fr wfererss T syl ¥ dre frar-wfafsan  T@wd ¢ |

(B)mm@ﬁﬁmﬁ@ﬁfmwﬁmﬁmﬁ%u
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(188)
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(190)

(191)

(192)

(193)

(194)

TBL &1 q0f wred SA-91 8 ?
(A) Technology Based Learning

(C) Television based Learning

Hq R et F *AABR’ T o FNE?
(A) Active, Act and Based

(C) Active, Accurate and Based

NME-ICT 1 ¥q P g0 Feiol e 01 1 el € 2

(B) Technology Binned Learning

(D) Telnet binned Learning

(B) Accurate, Authenticand believable

(D) Alternate, After and behind

(A) e (B) ST

(C) T O e

I3 W 1 fran afafran 2aren faeed we=fe |

(A) S=3Tel TR (B) fergeret

(C) T=feret ATt wATIE (D) e g e AT

e T o g frer 33 3 for deenfed e @ 2

(A) fasgare srgaa (B) #rea g9
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(A) 7ra g (B) #¥il gfesd
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(A) fneorares e
(B) T&d wa Neafsdn

(C) wrHIfSTer Td SR foroereh 3 (D) T T
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Toreror ol foeren iRraor & ICT wehteror 3 S9-91 T oreriyg =i &

(A) Freres =01 Ion %t 19 (B)qﬁaﬁq%gﬁ;@

(C) Tereh 1 TehTreHah =reon (D) i mﬂﬁ

o - g P fie si ) s
DIEANG. Sl G S TPt 3 ¥ gFEfed P e

A) Instituti

(A) Institution Management System (B) Education Management System

(C) Collage Management System (D) Teaching Management Syst
ystem
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